



$W_{\omega}^{2,p}$ -Solvability of the Cauchy–Dirichlet Problem for Nondivergence Parabolic Equations with BMO Coefficients

Lin Tang

Abstract. In this paper, we establish the regularity of strong solutions to nondivergence parabolic equations with BMO coefficients in nondoubling weighted spaces.

1 Introduction

Barmanti and Cerutti [4] studied the global regularity of the strong solution to the following Dirichlet problem on the second-order parabolic equation in nondivergence form:

$$(1.1) \quad \begin{cases} Lu = u_t - \sum_{i,j=1}^n a_{ij}(x)u_{x'_i x'_j} = f & \text{a.e. in } \Omega_T, \\ u(x) = 0 \text{ on } \partial\Omega \times (0, T), \\ u(x', 0) = 0 \text{ in } \Omega, \end{cases}$$

where $x = (x', t) = (x'_1, \dots, x'_n, t) \in \mathbb{R}^{n+1}$ and $\Omega_T = \Omega \times (0, T)$ (Ω is a bounded domain $C^{1,1}$ of \mathbb{R}^n); the coefficients $\{a_{ij}\}_{i,j=1}^n$ of L are symmetric and uniformly elliptic, *i.e.*, for some $\nu \geq 1$ and every $\xi \in \mathbb{R}^n$,

$$(1.2) \quad a_{ij}(x) = a_{ji}(x) \quad \text{and} \quad \nu^{-1}|\xi|^2 \leq \sum_{i,j=1}^n a_{ij}(x)\xi_i\xi_j \leq \nu|\xi|^2$$

with a.e. $x \in \Omega_T$ and $a_{ij} \in \text{VMO}$ (the space VMO, introduced by Sarason in [12], is the space of the functions in the John–Nirenberg space BMO whose BMO norm over a ball vanishes as the radius of the ball tends to zero). A different approach to divergence form parabolic equations with BMO coefficients was developed by Byun [3].

On the other hand, the weighted theory always plays an important role in partial differential equations; see [7, 10, 17]. In this paper, we are interested in global regularity in nondoubling weighted spaces of strong solutions to nondivergent parabolic equations with parameter $\lambda \geq 0$ defined by

$$(1.3) \quad L_{\lambda}u = u_t - \sum_{i,j=1}^n a_{ij}(x)u_{x'_i x'_j} + \lambda u = f \quad \text{a.e. in } \Omega_T.$$

Received by the editors June 18, 2010; revised March 8, 2011.

Published electronically August 3, 2011.

The research was supported by the NNSF (10971002) and (10871003) of China.

AMS subject classification: **35J45**, 35J55.

It is worth pointing out that Krylov [14–16] established the L^p theory of parabolic equations with parameter $\lambda \geq 0$. It also should be pointed out that we obtain non-doubling weight results, which are not only new, but also generalize some well-known results in some sense; see [4, 17].

The paper is organized as follows: Section 2 contains some definitions and lemmas. In Section 3, we obtain weighted interior estimates for the solution to (1.3). The boundary weighted estimates for the solution to (1.3) are obtained in Section 4. By a standard procedure, we can obtain its global weighted estimates in Section 5.

2 Some Definitions and Lemmas

Throughout this paper we will use x, y, \dots to indicate points in \mathbb{R}^{n+1} and x', y', \dots for points in \mathbb{R}^n corresponding to the first n coordinates, *i.e.*, we will write $x = (x', t) = (x'_1, \dots, x'_n, t)$.

The parabolic distance was introduced by Fabes and Riviere [8]:

$$\rho(x) = \sqrt{\frac{|x'|^2 + \sqrt{|x'|^4 + t^2}}{2}}, \quad d(x, y) = \rho(x - y).$$

A ball with respect to the metric d centered at $x_0 = (x'_0, t_0)$ and of radius r is simply an ellipsoid

$$B(x_0, r) = \left\{ x \in \mathbb{R}^{n+1} : \frac{|x' - x'_0|^2}{r^2} + \frac{(t - t_0)^2}{r^4} < 1 \right\}.$$

Obviously, the unit sphere with respect to this metric coincides with the sphere in \mathbb{R}^{n+1} , *a.e.* $\partial B(0, 1) = S^{n+1} = \{x \in \mathbb{R}^{n+1} : |x| = (\sum_{i=1}^n x_i^2 + t^2)^{\frac{1}{2}} = 1\}$.

Let us first recall the definitions and some properties of BMO and VMO spaces. We say that $f \in L^1_{\text{loc}}$ is in the space $\text{BMO}(\mathbb{R}^{n+1})$ if the BMO seminorm

$$\|f\|_* = \sup_B \frac{1}{|B|} \int_B |f(y) - f_B| dy < \infty,$$

where B ranges over all balls in \mathbb{R}^n with radius r , and centered at some point x and $f_B = \frac{1}{|B|} \int_B f(y) dy$. Then $\|f\|_*$ is a norm in BMO modulo constant functions under which BMO is a Banach space.

For $f \in \text{BMO}$ and $r > 0$ define the VMO modulus of f

$$\eta_f(r) = \sup_{\rho \leq r} \frac{1}{|B_\rho|} \int_{B_\rho} |f(y) - f_{B_\rho}| dy,$$

where B_ρ ranges over all balls in \mathbb{R}^n with radius ρ . We say that $f \in \text{BMO}$ is in the space $\text{VMO}(\mathbb{R}^{n+1})$ if $\eta_f(r) \rightarrow 0$ as $r \rightarrow 0$.

The space $\text{BMO}(\Omega)$ and $\text{VMO}(\Omega)$ can be defined by taking $B \cap \Omega$ and $B_\rho \cap \Omega$ instead of B and B_ρ in the definition of $\|f\|_*$ and $\eta_f(r)$.

Having a function f defined in Ω and belonging to $\text{BMO}(\Omega)$, if Ω is a bounded Lipschitz domain, we may then extend it to \mathbb{R}^{n+1} and the BMO norm of the extension

could be estimated by the BMO norm of the original function; see [11]. If, in addition, $f \in \text{VMO}(\Omega)$, then we can extend it preserving its VMO-modulus, as follows by the results of [18].

A weight will always mean a positive function which is locally integrable. We say that a weight ω belongs to the Muckenhoupt class A_p for $1 < p < \infty$ (see [9]), if there is a constant C such that for all balls $B = B(x, r)$

$$\left(\frac{1}{|B|} \int_B \omega(y) dy \right) \left(\frac{1}{|B|} \int_B \omega^{-\frac{1}{p-1}}(y) dy \right)^{p-1} \leq C.$$

Definition 2.1 A function $k(x)$ is said to be a parabolic Calderón–Zygmund (PCZ) kernel in the space \mathbb{R}^{n+1} if

- (i) k is smooth on $\mathbb{R}^{n+1} \setminus \{0\}$;
- (ii) $k(rx', r^2t) = r^{-(n+2)}k(x', t)$ for each $r > 0$;
- (iii) $\int_{\rho(x)=r} k(x) d\sigma(x) = 0$ for each $r > 0$.

A parabolic Calderón–Zygmund operator T with PCZ kernel k is defined by

$$Tf(x) = \text{pv} \int k(x - y)f(y) dy.$$

We define the commutator of T by $[T, a]f = aTf - T(af)$. We have the following well-known result.

Lemma 2.2 ([8]) Let $a \in \text{BMO}$, $1 < p < \infty$, and $\omega \in A_p$. If T is a parabolic Calderón–Zygmund operator, then there exists a positive constant C such that

$$\|Tf\|_{p,\omega} \leq C\|f\|_{p,\omega} \quad \text{and} \quad \|[T, a]f\|_{p,\omega} \leq C\|a\|_*\|f\|_{p,\omega}.$$

Definition 2.3 A function $k(x, y)$ is said to be a variable parabolic Calderón–Zygmund kernel in the space \mathbb{R}^{n+1} if

- (i) $k(x, \cdot)$ is PCZ kernel a.e. $x \in \mathbb{R}^{n+1}$;
- (ii) $\sup_{y \in S^{n+1}} |(\frac{\partial}{\partial y})^\beta k(x, y)| \leq C_\beta$ independent of x .

A variable parabolic Calderón–Zygmund operator T is defined by

$$Tf(x) = \text{p.v} \int k(x, x - y)f(y) dy.$$

Similarly, we define the commutator of T by $[T, a]f = aTf - T(af)$. Using the same spherical harmonic expansion as in [4], by Lemma 2.2 we have the following lemma.

Lemma 2.4 Let $a \in \text{BMO}$, $1 < p < \infty$, and $\omega \in A_p$. If T is a variable parabolic Calderón–Zygmund operator, then there exists a positive constant C such that

$$\|Tf\|_{p,\omega} \leq C\|f\|_{p,\omega} \quad \text{and} \quad \|[T, a]f\|_{p,\omega} \leq C\|a\|_*\|f\|_{p,\omega}.$$

Let $\mathbb{R}_+^{n+1} = \mathbb{R}^{n+1} \cap \{x'_n \geq 0\}$, $\mathbb{R}_-^{n+1} = \mathbb{R}^{n+1} \cap \{x'_n \leq 0\}$,

$C_t = \{u \in C_0^\infty(\mathcal{A}) : u(x', 0) = 0, \text{ with } \mathcal{A} = \mathbb{R}^{n+1} \cap \{t \geq 0\}\}$,

$C_{t,x'} = \{u \in C_0^\infty(\mathcal{B}) : u(x', 0) = 0, f \text{ for } t = 0 \vee x'_n = 0, \text{ with } \mathcal{B} = \mathcal{A} \cap \mathbb{R}_+^{n+1}\}$.

Note that \mathcal{A} and \mathcal{B} being closed, functions in the above spaces do not need to have derivatives vanishing at the boundary.

Let us now turn to equation (1.3). Throughout the paper the coefficient $a_{ij}(x)$ will satisfy (1.2) a.e. in a smooth cylinder $Q_T \subset \mathbb{R}^{n+1}$ and will belong to $L^\infty(Q_T)$.

Now for fixed $x_0 \in Q_T$, consider the constant coefficients operator with parameter $\lambda \geq 0$

$$L_\lambda^0 u = u_t - \sum_{i,j=1}^n a_{ij}(x_0) u_{x'_i x'_j} + \lambda u$$

obtained by L_λ freezing the coefficients at x_0 . It is easy to see that the fundamental solution of the operator L_λ^0 is given by the formula

$$\gamma_\lambda^0(y) = \frac{1}{(4\pi\tau)^{n/2} \sqrt{\det a_0}} \exp \left\{ -\frac{\sum_{i,j=1}^n A_0^{ij} y'_i y'_j}{4\tau} - \lambda\tau \right\}$$

for $\tau > 0$, zero otherwise, where $a_0 = \{a_{ij}(x_0)\}$ is the matrix of the coefficients of L_λ^0 and $A_0 = \{A_0^{ij}\} = a_0^{-1}$ is its inverse matrix. Hereafter we denote by $D_i \gamma_\lambda^0$ and $D_{ij} \gamma_\lambda^0$ the derivatives $\partial \gamma_\lambda^0 / \partial y_i$ and $\partial^2 \gamma_\lambda^0 / \partial y_j \partial y_i$. In (1.3), the coefficients of the operator L_λ depend on x . To express this dependence in the fundamental solution we define

$$\gamma_\lambda^x(y) = \frac{1}{(4\pi\tau)^{n/2} \sqrt{\det a(x')}} \exp \left\{ -\frac{\sum_{i,j=1}^n A^{ij}(x) y'_i y'_j}{4\tau} - \lambda\tau \right\}$$

for $\tau > 0$, zero otherwise, where $a(x) = \{a^{ij}(x)\}$ is the matrix of the coefficients of L and $A(x) = \{A^{ij}\} = a^{-1}(x)$ is its inverse matrix.

We remark that $D_{ij} \gamma_\lambda^0(y)$ is a parabolic Calderón–Zygmund kernel.

For the parabolic equation with parameter $\lambda \geq 0$, we have the following result.

Lemma 2.5 *Let $\lambda \geq 0$. Suppose $\gamma_\lambda^x(x - y)$ is the fundamental solution to*

$$\partial_t u - \sum_{i,j=1}^n a_{ij}(x) D_{ij} u + \lambda u = 0$$

in \mathbb{R}^{n+1} . Let $u \in C_t$. Then for $x \in \text{supp } u$, the interior representation formula

$$u_{x'_i x'_j}(x) = p.v. \int_{\mathbb{R}^{n+1}} D_{ij} \gamma_\lambda^x(x - y) \left\{ \sum_{h,k=1}^n [a_{hk}(x) - a_{hk}(y)] u_{y'_h y'_k}(y) + L_\lambda(y) \right\} dy + L_\lambda u \int_{S^{n+1}} D_i \gamma_\lambda^x(y) n_i d\sigma(y)$$

holds, and

$$\begin{aligned} |\gamma_{\lambda}^x(x-y)| &\leq \frac{C_N}{(1+|\lambda|^{1/2}\rho(x-y))^N} \frac{1}{\rho(x-y)^n}, \\ |D_i\gamma_{\lambda}^x(x-y)| &\leq \frac{C_N}{(1+|\lambda|^{1/2}\rho(x-y))^N} \frac{1}{\rho(x-y)^{n+1}}, \\ |D_{ij}\gamma_{\lambda}^x(x-y)| &\leq \frac{C_N}{(1+|\lambda|^{1/2}\rho(x-y))^N} \frac{1}{\rho(x-y)^{n+2}} \end{aligned}$$

hold for any $N > 0$, where C_N is a constant depending only on n, N , and ν in (1.2).

We also give the following boundary representation formula.

Lemma 2.6 *Let $u \in C_{t,x'}$. Then for x in the support of u , the following holds:*

$$\begin{aligned} u_{x'_i x'_j}(x) &= \lim_{\epsilon \rightarrow 0} \int_{\mathbb{R}_+^{n+1} \cap \{\rho(x-y) > \epsilon\}} D_{ij}\gamma_{\lambda}^x(x-y) \\ &\quad \times \left\{ \sum_{h,k=1}^n [a_{hk}(x) - a_{hk}(y)] u_{y'_i y'_j}(y) + L_{\lambda}(y) \right\} dy \\ &\quad + L_{\lambda} u \int_{S^{n+1}} D_i\gamma_{\lambda}^x(y) n_i d\sigma(y) - I_{ij}^{\lambda}(x), \end{aligned}$$

where

$$\begin{aligned} I_{ij}^{\lambda}(x) &= \int_{\mathbb{R}_+^{n+1} \cap \{\rho(x-y) > \epsilon\}} D_{ij}\gamma_{\lambda}^x(T(x)-y) \\ &\quad \times \left\{ \sum_{h,k=1}^n [a_{hk}(x) - a_{hk}(y)] u_{y'_i y'_j}(y) + L_{\lambda}(y) \right\} dy \quad \text{for } i, j = 1, \dots, n-1, \\ I_{in}^{\lambda}(x) &= I_{ni}^{\lambda}(x) = \int_{\mathbb{R}_+^{n+1}} \sum_{l=1}^n B_l(x) D_{il}\gamma_{\lambda}^x(T(x)-y) \{ \dots \} dy, \quad \text{for } i, j = 1, \dots, n-1, \\ I_{mn}^{\lambda} &= I_{ni}^{\lambda}(x) = \int_{\mathbb{R}_+^{n+1}} \sum_{l,r=1}^n B_l(x) B_r(x) D_{lr}\gamma_{\lambda}^x(T(x)-y) \{ \dots \} dy, \end{aligned}$$

where $T(x) = x - 2x'_n \frac{a(x)}{a_{nn}(x)}$ and $a(x)$ is the $(n+1)$ -dimensional vector

$$[a_{1,n}(x), \dots, a_{nn}(x), 0]$$

constructed with the coefficients of L_{λ} , where $B_i(x)$ is the i -th component of the vector $B(x) = T(e_n; x)$ and n_i is the i -th component of the outer normal to the surface S^{n+1} . (The expression between braces is always the same).

Adapting the same arguments of [4], we can prove Lemmas 2.4 and 2.5. We omit the details here.

3 Weighted Interior Estimates

Let $W_\omega^{2,p}(\mathbb{R}^{n+1})$ be the Sobolev space of functions u such that

$$u, u_t, u_{x'_i}, u_{x'_i x'_j} \in L^p_\omega(\mathbb{R}^{n+1}).$$

Obviously, $C_t \subset W_\omega^{2,p}(\mathbb{R}^{n+1})$.

Theorem 3.1 *Let $1 < p < \infty$, $\lambda \geq 0$, and $\omega(x) = (1 + \sqrt{\lambda}\rho(x - x_0))^\gamma \mu(x)$ with $x_0 \in \mathbb{R}^{n+1}$, $\gamma \in \mathbb{R}$, and $\mu \in A_p$. Then there exist positive constants η and C independent of λ and x_0 such that for all $u \in C_t$,*

$$\sum_{|\nu| \leq 2} \|\lambda^{1-|\nu|/2} D^\nu u\|_{p,\omega} + \|u_t\|_{p,\omega} \leq C \|(\lambda + \partial_t - A)u\|_{p,\omega},$$

provided that $\|a\|_* := \max_{|\beta|=2} \{\|a_\beta\|_*\} \leq \eta$, where $A = \sum_{i,j=1}^n a_{ij}(\cdot) D_{ij}$.

Remark 1 If $\lambda > 0$ and $\gamma \leq -(n + 2)$, then $\omega(x) = (1 + \sqrt{\lambda}\rho(x - x_0))^\gamma$ is a nondoubling weight.

To prove Theorem 3.1, we need the following several results.

Lemma 3.2 ([8]) *Let $h \in C^\infty(\mathbb{R}^{n+1} \setminus \{0\})$ be a homogeneous function of degree 0. Set $Tf = \mathcal{F}^{-1}k\mathcal{F}f$ for $f \in L^2(\mathbb{R}^{n+1})$. Then there exists a homogeneous function $k \in C^\infty(\mathbb{R}^{n+1} \setminus \{0\})$ of degree $-n - 2$ with $\int_{S^{n+1}} k(x) d\sigma(x) = 0$ such that*

$$Tf(x) = cf(x) + \lim_{\epsilon \rightarrow 0} \int_{\rho(y) > \epsilon} k(y)f(x - y) dy.$$

Moreover, c and the derivatives of k can be estimated in terms depending on k only.

Lemma 3.3 *Let $u \in C^\infty_0(\mathbb{R}^{n+1})$. If $|\nu| < 2$, then*

$$D^\nu u(x) = \int_{\mathbb{R}^{n+1}} D^\nu \gamma_\lambda^x(x - y)(\lambda + \partial_t - A_x)u(y) dy.$$

Moreover, for $|\nu| = 2$,

$$\begin{aligned} D^\nu u(x) &= \text{pv} \int_{\mathbb{R}^{n+1}} k_\nu(x, x - y)(\lambda + \partial_t - A_x)u(y) dy + c_\nu(x)(\lambda + \partial_t - A_x)u(x) \\ &\quad - \int_{\mathbb{R}^{n+1}} \lambda \gamma_\lambda^x(x - y) \left(\text{pv} \int_{\mathbb{R}^{n+1}} k_\nu(x, x - y)(\lambda + \partial_t - A_x)u(z) dz \right) dy \\ &\quad - c_\nu(x) \int_{\mathbb{R}^{n+1}} \gamma_\lambda^x(x - y)(\lambda + \partial_t - A_x)u(y) dy. \end{aligned}$$

Here $c_\nu \in L^\infty(\mathbb{R}^{n+1})$ and k_ν is a variable parabolic Calderón–Zygmund kernel.

Proof First note that $\mathcal{F}u = (\lambda + i\tau + A_{x_0}(\xi))^{-1}\mathcal{F}(\lambda + \partial_t + A_{x_0})u$ holds for arbitrary $x_0 \in \mathbb{R}^{n+1}$. The first part of the assumption follows easily by setting $x_0 = x$ since, by Lemma 2.5, $D^\nu \gamma_\lambda^{x_0}$ is in $L^1(\mathbb{R}^{n+1})$ for every $|\nu| < 2$.

Hence, we turn to the case where $|\nu| = 2$ and see that

$$\begin{aligned} \mathcal{F}D^\nu u &= \xi^\nu(\lambda + i\tau - A_{x_0}(\xi))^{-1}\mathcal{F}(\lambda + \partial_t - A_{x_0})u \\ &= \xi^\nu(i\tau - A_{x_0}(\xi))^{-1}\mathcal{F}(\lambda + \partial_t - A_{x_0})u \\ &\quad + (\xi^\nu(\lambda + i\tau - A_{x_0}(\xi))^{-1} - \xi^\nu(i\tau - A_{x_0}(\xi))^{-1})\mathcal{F}(\lambda + \partial_t - A_{x_0})u \\ &= \xi^\nu(i\tau - A_{x_0}(\xi))^{-1}\mathcal{F}(\lambda + \partial_t - A_{x_0})u \\ &\quad - \lambda(\lambda + i\tau - A_{x_0}(\xi))^{-1}\xi^\nu(i\tau - A_{x_0}(\xi))^{-1}\mathcal{F}(\lambda + \partial_t - A_{x_0})u. \end{aligned}$$

Applying \mathcal{F}^{-1} and using Lemma 3.2, we get for all $x \in \mathbb{R}^{n+1}$ that

$$\begin{aligned} D^\nu u(x) &= \text{pv} \int_{\mathbb{R}^{n+1}} k_\nu(x_0, x - y)(\lambda + \partial_t - A_{x_0})u(y) dy + c_\nu(x_0)(\lambda + \partial_t - A_{x_0})u(x) \\ &\quad - \int_{\mathbb{R}^{n+1}} \lambda \gamma_\lambda^{x_0}(x - y) \left(\text{pv} \int_{\mathbb{R}^{n+1}} k_\nu(x_0, y - z)(\lambda + \partial_t - A_{x_0})u(z) dz \right) dy \\ &\quad - \int_{\mathbb{R}^{n+1}} \lambda \gamma_\lambda^{x_0}(x - y) c_\nu(x_0)(\lambda + i\tau - A_{x_0})u(y) dy. \end{aligned}$$

Setting $x_0 = x$ now yields the claim. ■

For $f \in \mathcal{S}$ we set

$$\begin{aligned} T_1 f(x) &:= \text{pv} \int_{\mathbb{R}^{n+1}} k_\nu(x, x - y)f(y) dy, \\ [T_1, a] f(x) &:= \text{pv} \int_{\mathbb{R}^{n+1}} k_\nu(x, x - y)(a(x) - a(y))f(y) dy, \\ T_2 f(x) &:= \int_{\mathbb{R}^{n+1}} \lambda \gamma_\lambda^x(x - y) \text{pv} \int_{\mathbb{R}^{n+1}} k_\nu(x, y - z)f(z) dz dy, \\ [T_2, a] f(x) &:= \int_{\mathbb{R}^{n+1}} \lambda \gamma_\lambda^x(x - y) \text{pv} \int_{\mathbb{R}^{n+1}} k_\nu(x, y - z)(a(x) - a(z))f(z) dz dy, \end{aligned}$$

for $|\nu| = 2$, and

$$\begin{aligned} T_3^\nu f(x) &= \int_{\mathbb{R}^{n+1}} \lambda^{\frac{2-|\nu|}{2}} D^\nu \gamma_\lambda^x(x - y)f(y) dy, \\ [T_3^\nu, a] f(x) &= \int_{\mathbb{R}^{n+1}} \lambda^{\frac{2-|\nu|}{2}} D^\nu \gamma_\lambda^x(x - y)(a(x) - a(y))f(y) dy, \end{aligned}$$

for $|\nu| < 2$, where a is assumed to be in BMO.

Lemma 3.4 Let $|\nu| < 2$. Let $1 < p < \infty$ and $\omega \in A_p$. The operators T_2, T_3^ν , and $[T_2, a], [T_3^\nu, a]$, respectively, are bounded in L_ω^p . Furthermore, the norms of these operators can be estimated by

$$\|T_2\| + \|T_3^\nu\| \leq C \quad \text{and} \quad \|[T_2, a]\| + \|[T_3^\nu, a]\| \leq C\|a\|_*$$

where the constant C can be chosen to be A_p -constant.

Proof We consider first T_3^ν . By Lemma 2.5, we have $|T_3^\nu f(x)| \leq CMf(x)$, where M denotes the parabolic Hardy–Littlewood maximal operator.

From this, we obtain that

$$(3.1) \quad \|T_3^\nu f\|_{p,\omega} \leq C\|f\|_{p,\omega},$$

where the constant C is A_p -constant and independent of λ . We now turn our attention to T_2 . Using the same spherical harmonic expansion as in [4], we obtain that

$$T_2 f(x) = \sum_{m=1}^{\infty} \sum_{k=1}^{g_m} b_{k,m}(x) \int_{\mathbb{R}^{n+1}} \lambda \gamma_\lambda^x(x-y) \text{pv} \int_{\mathbb{R}^{n+1}} \frac{Y_{k,m}(y-z)}{\rho(y-z)^{n+2}} f(z) dz dy,$$

where $\frac{Y_{k,m}(y-z)}{\rho(y-z)^{n+2}}$ is a parabolic Calderón–Zygmund kernel.

Hence, by Lemma 2.2, we have

$$(3.2) \quad \|T_2 f\|_{p,\omega} \leq \sum_{m=1}^{\infty} \sum_{k=1}^{g_m} \|b_{k,m}\|_\infty \|f\|_{p,\omega} \leq C\|f\|_{p,\omega},$$

where we used the fact that $\sum_{m=1}^{\infty} \sum_{k=1}^{g_m} \|b_{k,m}\|_\infty \leq C$; see [4].

By (3.1) and (3.2), using [2, Theorem 2], we obtain that

$$\|[T_2, a]\|_{p,\omega} + \|[T_3^\nu, a]\|_{p,\omega} \leq C\|a\|_* \|f\|_{p,\omega}. \quad \blacksquare$$

Proposition 3.5 Let $1 < p < \infty$ and $\omega \in A_p$. Then there exist positive constants η and C such that for all $u \in W_\omega^{2,p}(\mathbb{R}^{n+1})$ and $\lambda \geq 0$

$$\sum_{|\nu| \leq 2} \|\lambda^{1-|\nu|/2} D^\nu u\|_{p,\omega} + \|u_t\|_{p,\omega} \leq C\|(\lambda + \partial_t - A)u\|_{p,\omega},$$

provided that $\|a\|_* \leq \eta$. The constants C and η only depend on the A_p -constant of ω .

Proof We recall the representation formulas in Lemma 3.3. Let $|\gamma| < 2$; for $u \in C_0^\infty(\mathbb{R}^{n+1})$ we write

$$\begin{aligned} \lambda^{1-|\gamma|/2} D^\nu u(x) &= \int_{\mathbb{R}^{n+1}} \lambda^{1-|\gamma|/2} D^\nu \gamma_\lambda^x(x-y) ((\lambda + \partial_t - A) + (A - A_x))u(y) dy \\ &= \int_{\mathbb{R}^{n+1}} \lambda^{1-|\gamma|/2} D^\nu \gamma_\lambda^x(x-y) (\lambda + \partial_t - A)u(y) dy \\ &\quad + \int_{\mathbb{R}^{n+1}} \lambda^{1-|\gamma|/2} D^\nu \gamma_\lambda^x(x-y) \sum_{|\beta|=2} (a_\beta(x) - a_\beta(y)) D^\beta u(y) dy \\ &= (T_3^\gamma (\lambda + \partial_t - A)u)(x) + \sum_{|\beta|=2} ([T_3^\gamma, a_\beta] D^\beta)u(x). \end{aligned}$$

By Lemma 3.3, we have

$$(3.3) \quad \|\lambda^{1-|\gamma|/2} D^\nu u\|_{p,\omega} \leq C_\nu \|(\lambda + \partial_t - A)u\|_{p,\omega} + C \|a\|_* \sum_{|\beta|=m} \|D^\beta u\|_{p,\omega}.$$

Noting that $c_\gamma \in L^\infty$, for $|\nu| = 2$ we get

$$\begin{aligned} D^\nu u(x) &= \left(T_1(\lambda + \partial_t - A)u + c_\gamma(\lambda + \partial_t - A)u \right. \\ &\quad \left. - T_2(\lambda + \partial_t - A)u - c_\gamma T_3^0(\lambda + \partial_t - A) \right)(x) \\ &\quad + \sum_{|\beta|=2} ([T_1, a_\beta] D^\beta u - [T_2, a_\beta] D^\beta u - c_\gamma [T_3, a_\beta] D^\beta u)(x). \end{aligned}$$

By Lemmas 2.4 and 3.3, for $|\nu| = 2$ we have

$$(3.4) \quad \|D^\nu u\|_{p,\omega} \leq C_\gamma \|(\lambda + \partial_t - A)u\|_{p,\omega} + C \|a\|_* \sum_{|\beta|=2} \|D^\beta u\|_{p,\omega}.$$

Combining (3.3) and (3.4), we obtain that

$$\sum_{|\gamma|\leq 2} \|\lambda^{1-|\gamma|/2} D^\nu u\|_{p,\omega} \leq C \|(\lambda + \partial_t - A)u\|_{p,\omega},$$

if $C \|a\|_* < 1$. ■

Proposition 3.6 *Let $1 < p < \infty$, $p' = p/(p - 1)$, $\lambda \geq 0$, and*

$$\omega(x) = (1 + \sqrt{\lambda} \rho(x - x_0))^{p\gamma_1} \rho(x - x_0)^{p\gamma_2}$$

with $x_0 \in \mathbb{R}^{n+1}$, $\gamma_1 \in \mathbb{R}$, and $\gamma_2 \in (-(n+2)/p, (n+2)/p')$. Then there exists positive constants C and η such that for all $u \in C_t$

$$\sum_{|\nu|\leq 2} \|\lambda^{1-|\nu|/2} D^\nu u\|_{p,\omega} + \|u_t\|_{p,\omega} \leq C \|(\lambda + \partial_t - A)u\|_{p,\omega},$$

provided that $\|a\|_ \leq \eta$. The constants C and η only depend on p, γ_1, γ_2 and η .*

Proof As in the proof of Proposition 3.5, let $|\nu| < 2$. We write for $u \in C_0^\infty(\mathbb{R}^{n+1})$

$$\begin{aligned} \lambda^{1-|\nu|/2} D^\nu u(x) &= (T_3^\nu(\lambda + \partial_t - A))u(x) + \sum_{|\beta|=2} ([T_3^\nu, a_\beta] D^\beta)u(x) \\ &:= I_1 + I_2. \end{aligned}$$

By Lemma 3.4, we have

$$(3.5) \quad \|I_1\|_{p,\omega} \leq C_\gamma \|(\lambda + \partial_t - A)u\|_{p,\omega}, \quad \|I_2\|_{p,\omega} \leq C \|a\|_* \sum_{|\beta|=m} \|D^\beta u\|_{p,\omega}.$$

From Lemma 2.5, we write for $u \in C_t$

$$\begin{aligned} u_{x'_i x'_j}(x) &= \text{pv} \int_{\mathbb{R}^{n+1}} D_{ij} \gamma_\lambda^x(x-y) \left\{ \sum_{h,k=1}^n [a_{hk}(x) - a_{hk}(y)] u_{y'_i y'_j}(y) \right\} dy \\ &+ \text{pv} \int_{\mathbb{R}^{n+1}} D_{ij} \gamma_\lambda^x(x-y) (\lambda + \partial_t - A) u(y) dy \\ &+ (\lambda + \partial_t - A) u(x) \int_{S^{n+1}} D_i \gamma_\lambda^x(y) n_i d\sigma(y) \\ &:= \Pi_1 + \Pi_2 + \Pi_3 . \end{aligned}$$

Obviously, let ω be as in Proposition 3.6. Then we have

$$\| \Pi_3 \|_{p,\omega} \leq C \| (\lambda + \partial_t - A) u \|_{p,\omega} .$$

Note that $\lambda(\lambda + \partial_t - A_x)^{-1} f(x) = \text{pv} \int_{\mathbb{R}^{n+1}} \lambda \gamma_\lambda^x(x-y) f(y) dy$. Let $\omega \in A_p$. Then $\| \lambda(\lambda + \partial_t - A_x)^{-1} f \|_{p,\omega} \leq C \| f \|_{p,\omega}$, so

$$\| (\partial_t - A_x)(\lambda + \partial_t - A_x)^{-1} f \|_{p,\omega} \leq C \| f \|_{p,\omega} .$$

Hence,

$$(3.6) \quad \| D_{ij}(\lambda + \partial_t - A_x)^{-1} f \|_{p,\omega} \leq C \| (\partial_t - A_x)(\lambda + \partial_t - A_x)^{-1} f \|_{p,\omega} \leq C \| f \|_{p,\omega} .$$

Here we used the fact that $\| D_{ij}(\partial_t - A_x)^{-1} f \|_{p,\omega} \leq C \| f \|_{p,\omega}$. Note that

$$D_{ij}(\lambda + \partial_t - A_x)^{-1} f(x) = \text{pv} \int_{\mathbb{R}^{n+1}} D_{ij} \gamma_\lambda^x(x-y) f(y) dy .$$

By (3.6) and using [2, Theorem 2], we obtain

$$(3.7) \quad \| \Pi_1 \|_{p,\omega} \leq C \| a \|_* \sum_{|\beta|=2} \| D^\beta u \|_{p,\omega} , \quad \| \Pi_2 \|_{p,\omega} \leq C \| (\lambda + \partial_t - A) u \|_{p,\omega} .$$

For convenience, we define the operator T_ν by for $|\nu| \leq 2$

$$Tf(x) = \int_{\mathbb{R}^{n+1}} \lambda^{1-|\nu|/2} D^\nu \gamma_\lambda^x(x-y) f(y) dy .$$

To prove Proposition 3.6, it suffices to prove that

$$(3.8) \quad \| Tf \|_{p,\omega} \leq C \| f \|_{p,w} ,$$

$$(3.9) \quad \| [T, a] f \|_{p,\omega} \leq C \| a \|_* \| f \|_{p,w} ,$$

where ω is defined in Proposition 3.6.

From Lemma 2.5, it is easy to see that

$$(3.10) \quad |\lambda^{1-|\nu|/2} D^\nu \gamma_\lambda^x(x-y)| \leq \frac{C_N}{(1+|\lambda|^{1/2}\rho(x-y))^N} \frac{1}{\rho(x-y)^{n+2}}$$

holds for any $N > 0$ and C_N is a constant depending only on n, N .

We first prove (3.8), following [13]. Fix a ball $B = B(x_0, r)$. Write

$$f(y) = \sum_{k=-\infty}^{\infty} f(y)\chi_{A_k}(y) := \sum_{k=-\infty}^{\infty} f_k(y),$$

where $A_k = B(x_0, 2^{k+1}r) \setminus B(x_0, 2^k r)$.

Thus,

$$\begin{aligned} \|Tf\|_{L_\omega^p(\mathbb{R}^{n+1})}^p &\leq C \sum_{k=-\infty}^{\infty} (1 + \sqrt{\lambda}2^k)^{p\gamma_1} 2^{kp\gamma_2} \|\chi_{A_k} Tf\|_{L^p(\mathbb{R}^{n+1})}^p \\ &\leq C \sum_{k=-\infty}^{\infty} (1 + \sqrt{\lambda}2^k)^{p\gamma_1} 2^{kp\gamma_2} \left(\left\| \sum_{j=-\infty}^{k-2} \chi_{A_k} T(f_j) \right\|_{L^p(\mathbb{R}^{n+1})}^p \right. \\ &\quad \left. + C \sum_{k=-\infty}^{\infty} (1 + \sqrt{\lambda}2^k)^{p\gamma_1} 2^{kp\gamma_2} \left(\sum_{j=k-1}^{k+1} \|\chi_{A_k} T(f_j)\|_{L^p(\mathbb{R}^{n+1})}^p \right) \right. \\ &\quad \left. + C \sum_{k=-\infty}^{\infty} (1 + \sqrt{\lambda}2^k)^{p\gamma_1} 2^{kp\gamma_2} \left(\left\| \sum_{j=k+2}^{\infty} \chi_{A_k} T(f_j) \right\|_{L^p(\mathbb{R}^{n+1})}^p \right) \right) \\ &\equiv E_1 + E_2 + E_3. \end{aligned}$$

For E_2 , by the $L^p(\mathbb{R}^{n+1})$ boundedness of T (see (3.6) and (3.7)), we have

$$E_2 \leq C \sum_{k=-\infty}^{\infty} (1 + \sqrt{\lambda}2^k)^{p\gamma_1} 2^{kp\gamma_2} \left(\sum_{j=k-1}^{k+1} \|T(f_j)\|_{L^p(\mathbb{R}^{n+1})}^p \right) \leq C \|f\|_{L_\omega^p(\mathbb{R}^{n+1})}^p.$$

For E_1 , note that when $x \in A_k$, $j \leq k - 2$, and $y \in A_j$, then $2\rho(y - x_0) \leq \rho(x - x_0)$.

Therefore, for $x \in A_k$ and any $N > 0$, by (3.10) we have

$$\begin{aligned} |T(f_j)(x)| &\leq C_N \int_{\mathbb{R}^{n+1}} \frac{|f_j(y)| dy}{(1 + \rho(x-y))^N \rho(x-y)^{n+2}} \\ &\leq C(1 + \sqrt{\lambda}2^k)^{-N} 2^{-k(n+2)} \int_{A_j} |f(y)| dy \\ &\leq C(1 + \sqrt{\lambda}2^k)^{-N} 2^{-k(n+2)} 2^{j(n+2)/p'} \|f\chi_{A_j}\|_{L^p(\mathbb{R}^{n+1})}, \end{aligned}$$

where $1/p' + 1/p = 1$.

From this, and taking $N \geq |\gamma_1|$, by Hölder's inequality, we get

$$\begin{aligned}
 E_1 &\leq C \sum_{k=-\infty}^{\infty} (1 + \sqrt{\lambda}2^k)^{p(\gamma_1-N)} 2^{kp\gamma_2} \\
 &\quad \times \left(\sum_{j=-\infty}^{k-2} 2^{-k(n+2)/p'} 2^{j(n+2)/p'} \|f\chi_{A_j}\|_{L^p(\mathbb{R}^{n+1})} \right)^p \\
 &\leq C \sum_{k=-\infty}^{\infty} \left(\sum_{j=-\infty}^{k-2} 2^{-(k-j)(\gamma_2-(n+2)/p')} (1 + \sqrt{\lambda}2^j)^{(\gamma_1-N)} 2^{j\gamma_2} \|f\chi_{A_j}\|_{L^p(\mathbb{R}^{n+1})} \right)^p \\
 &\leq C \sum_{k=-\infty}^{\infty} \left(\sum_{j=-\infty}^{k-2} 2^{-(k-j)(\gamma_2-(n+2)/p')} (1 + \sqrt{\lambda}2^j)^{\gamma_1} 2^{j\gamma_2} \|f\chi_{A_j}\|_{L^p(\mathbb{R}^{n+1})} \right)^p \\
 &\leq C \sum_{k=-\infty}^{\infty} \left(\sum_{j=-\infty}^{k-2} 2^{-(k-j)(\gamma_2-(n+2)/p')} \|f\chi_{A_j}\|_{L^p_{\omega}(\mathbb{R}^{n+1})} \right)^p \\
 &\leq C \sum_{k=-\infty}^{\infty} \left(\sum_{j=-\infty}^{k-2} 2^{-(k-j)p(\gamma_2-(n+2)/p')} \|f\chi_{A_j}\|_{L^p_{\omega}(\mathbb{R}^{n+1})} \right) \\
 &\quad \times \left(\sum_{j=-\infty}^{k-2} 2^{-(k-j)p'(\gamma_2-(n+2)/p')} \right)^{p/p'} \\
 &\leq C \sum_{k=-\infty}^{\infty} \left(\sum_{j=-\infty}^{k-2} 2^{-(k-j)p(\gamma_2-(n+2)/p')} \|f\chi_{A_j}\|_{L^p_{\omega}(\mathbb{R}^{n+1})} \right) \\
 &= C \sum_{j=-\infty}^{\infty} \|f\chi_{A_j}\|_{L^p_{\omega}(\mathbb{R}^{n+1})}^p \left(\sum_{k=j+2}^{\infty} 2^{-(k-j)p(\gamma_2-(n+2)/p')} \right) \leq C \|f\|_{L^p_{\omega}(\mathbb{R}^{n+1})}^p,
 \end{aligned}$$

since $\gamma_2 < (n + 2)/p'$.

For E_3 , note that when $x \in A_k$, $j \geq k+2$ and $y \in A_j$, then $2\rho(x - x_0) \leq \rho(y - x_0)$. Therefore, for $x \in A_k$,

$$\begin{aligned}
 |T(f_j)(x)| &\leq C \int_{\mathbb{R}^{n+1}} \frac{|f_j(y)| dy}{(1 + \rho(x - y))^N \rho(x - y)^{n+2}} \\
 &\leq C(1 + \sqrt{\lambda}2^j)^{-N} 2^{-j(n+2)} \int_{A_j} |f(y)| dy \\
 &\leq C(1 + \sqrt{\lambda}2^j)^{-N} 2^{-j(n+2)/p} \|f\chi_{A_j}\|_{L^p(\mathbb{R}^{n+1})},
 \end{aligned}$$

where $1/p + 1/p' = 1$. From this, taking $N \geq |\gamma_1|$, we obtain

$$\begin{aligned} E_3 &\leq C \sum_{k=-\infty}^{\infty} (1 + \sqrt{\lambda}2^k)^{p\gamma_1} 2^{kp\gamma_2} \\ &\quad \times \left(\sum_{j=k+2}^{\infty} (1 + \sqrt{\lambda}2^j)^{-N} 2^{-j(n+2)/p} \|f\chi_{A_j}\|_{L^p(\mathbb{R}^{n+1})} \right)^p \\ &\leq C \sum_{k=-\infty}^{\infty} \left(\sum_{j=k+2}^{\infty} 2^{(k-j)(\gamma_2+(n+2)/p)} (1 + \sqrt{\lambda}2^j)^{\gamma_1} 2^{-j\gamma_2} \|f\chi_{A_j}\|_{L^p(\mathbb{R}^{n+1})} \right)^p \\ &\leq C \sum_{k=-\infty}^{\infty} \left(\sum_{j=k+2}^{\infty} 2^{-(k-j)(\gamma_2+(n+2)/p)} \|f\chi_{A_j}\|_{L_\omega^p(\mathbb{R}^{n+1})} \right)^p \\ &\leq C \sum_{j=-\infty}^{\infty} \|f\chi_{A_j}\|_{L_\omega^p(\mathbb{R}^{n+1})}^p \left(\sum_{j=k+2}^{\infty} 2^{(k-j)p'(\gamma_2+(n+2)/p)} \right)^{p/p'} \\ &\leq C \|f\|_{L_\omega^p(\mathbb{R}^{n+1})}^p, \end{aligned}$$

since $\gamma_2 > -(n + 2)/p$.

Hence,

$$\|Tf\|_{L_\omega^p(\mathbb{R}^{n+1})} \leq C \|f\|_{L_\omega^p(\mathbb{R}^{n+1})}.$$

It remains to prove (3.9), similar to the proof of (3.8). Fix a ball $B = B(x_0, r)$. Write

$$f(y) = \sum_{k=-\infty}^{\infty} f(y)\chi_{A_k}(y) := \sum_{k=-\infty}^{\infty} f_k(y),$$

where $A_k = B(x_0, 2^{k+1}r) \setminus B(x_0, 2^k r)$.

Then we have

$$\begin{aligned} \|[T, a]f\|_{L_\omega^p(\mathbb{R}^{n+1})}^p &\leq C \sum_{k=-\infty}^{\infty} (1 + \sqrt{\lambda}2^k)^{p\gamma_1} 2^{kp\gamma_2} \|\chi_{A_k}[T, a]f\|_{L^p(\mathbb{R}^{n+1})}^p \\ &\leq C \sum_{k=-\infty}^{\infty} (1 + \sqrt{\lambda}2^k)^{p\gamma_1} 2^{kp\gamma_2} \left(\left\| \sum_{j=-\infty}^{k-2} \chi_{A_k}[T, a](f_j) \right\|_{L^p(\mathbb{R}^{n+1})}^p \right) \\ &\quad + C \sum_{k=-\infty}^{\infty} (1 + \sqrt{\lambda}2^k)^{p\gamma_1} 2^{kp\gamma_2} \left(\sum_{j=k-1}^{k+1} \|\chi_{A_k}[T, a](f_j)\|_{L^p(\mathbb{R}^{n+1})}^p \right) \\ &\quad + C \sum_{k=-\infty}^{\infty} (1 + \sqrt{\lambda}2^k)^{p\gamma_1} 2^{kp\gamma_2} \left(\left\| \sum_{j=k+2}^{\infty} \chi_{A_k}[T, a](f_j) \right\|_{L^p(\mathbb{R}^{n+1})}^p \right) \\ &\equiv F_1 + F_2 + F_3. \end{aligned}$$

For E_2 , by the $L^p(\mathbb{R}^{n+1})$ boundedness of $[T, a]$ (see (3.5) and (3.6)), we have

$$F_2 \leq C \sum_{k=-\infty}^{\infty} (1 + \sqrt{\lambda}2^k)^{p\gamma_1} 2^{kp\gamma_2} \left(\sum_{j=k-1}^{k+1} \|[T, a](f_j)\|_{L^p(\mathbb{R}^{n+1})}^p \right) \leq C \|f\|_{L^p_\omega(\mathbb{R}^{n+1})}.$$

For F_1 , note that when $x \in A_k$, $j \leq k - 2$, and $y \in A_j$, then $2\rho(y - x_0) \leq \rho(x - x_0)$. Therefore, for $x \in A_k$ and any $N > 0$, by (3.10) we have

$$\begin{aligned} |[T, a](f_j)(x)| &\leq C \int_{\mathbb{R}^{n+1}} \frac{|a(x) - a(y)|}{(1 + \sqrt{\lambda}\rho(x - y))^N \rho(x - y)^{n+2}} |f_j(y)| dy \\ &\leq C(1 + \sqrt{\lambda}2^k)^{-N} 2^{-k(n+2)} \int_{A_j} |a(x) - a(y)| |f(y)| dy \\ &\quad + C(1 + \sqrt{\lambda}2^k)^{-N} 2^{-k(n+2)} |a(x) - a_{B_j}| \int_{A_j} |f(y)| dy \\ &\leq C(1 + \sqrt{\lambda}2^k)^{-N} 2^{-k(n+2)} 2^{j(n+2)/p'} \\ &\quad \times (\|a\|_* + |a(x) - a_{B_j}|) \|f\chi_{A_j}\|_{L^p(\mathbb{R}^{n+1})}, \end{aligned}$$

where $a_{B_j} = \frac{1}{|B_j|} \int_{B_j} a(y) dy$.

From this, and taking $N \geq |\gamma_1|$, we get

$$\begin{aligned} F_1 &\leq C \|a\|_*^p \sum_{k=-\infty}^{\infty} (1 + \sqrt{\lambda}2^k)^{p(\gamma_1 - N)} 2^{kp\gamma_2} \\ &\quad \times \left(\sum_{j=-\infty}^{k-2} 2^{-(k-j)(n+2)/p'} (k - j) \|f\chi_{A_j}\|_{L^p(\mathbb{R}^{n+1})} \right)^p \\ &\leq C \|a\|_*^p \sum_{k=-\infty}^{\infty} \left(\sum_{j=-\infty}^{k-2} 2^{-(k-j)(\gamma_2 - (n+2)/p')} (1 + \sqrt{\lambda}2^j)^{\gamma_1} \right. \\ &\quad \left. \times 2^{j\gamma_2} (k - j) \|f\chi_{A_j}\|_{L^p(\mathbb{R}^{n+1})} \right)^p \\ &\leq C \|a\|_*^p \sum_{k=-\infty}^{\infty} \left(\sum_{j=-\infty}^{k-2} 2^{-(k-j)(\gamma_2 - (n+2)/p')} (k - j) \|f\chi_{A_j}\|_{L^p_\omega(\mathbb{R}^{n+1})} \right)^p \\ &\leq C \|a\|_*^p \sum_{k=-\infty}^{\infty} \left(\sum_{j=-\infty}^{k-2} 2^{-(k-j)p(\gamma_2 - (n+2)/p')} \|f\chi_{A_j}\|_{L^p_\omega(\mathbb{R}^{n+1})}^p \right) \\ &\quad \times \left(\sum_{j=-\infty}^{k-2} 2^{-(k-j)p'(\gamma_2 - (n+2)/p')} (k - j)^{p'} \right)^{p/p'} \\ &\leq C \|a\|_*^p \sum_{k=-\infty}^{\infty} \left(\sum_{j=-\infty}^{k-2} 2^{-(k-j)p(\gamma_2 - (n+2)/p')} \|f\chi_{A_j}\|_{L^p_\omega(\mathbb{R}^{n+1})}^p \right) \end{aligned}$$

$$\begin{aligned} &= C \|a\|_*^p \sum_{j=-\infty}^{\infty} \|f \chi_{A_j}\|_{L_\omega^p(\mathbb{R}^{n+1})}^p \left(\sum_{k=j+2}^{\infty} 2^{-(k-j)p(\gamma_2-(n+2)/p')} \right) \\ &\leq C \|a\|_*^p \|f\|_{L_\omega^p(\mathbb{R}^{n+1})}^p, \end{aligned}$$

since $\gamma_2 < (n + 2)/p'$.

For F_3 , note that when $x \in A_k$, $j \geq k+2$, and $y \in A_j$, then $2\rho(x-x_0) \leq \rho(y-x_0)$. Therefore, for $x \in A_k$,

$$\begin{aligned} |[T, a](f_j)(x)| &\leq C_N \int_{\mathbb{R}^{n+1}} \frac{|a(x) - a(y)| |f_j(y)| dy}{(1 + \sqrt{\lambda}\rho(x-y))^N \rho(x-y)^{n+2}} \\ &\leq C(1 + \sqrt{\lambda}2^j)^{-N} 2^{-j(n+2)} \int_{A_j} |a(x) - a(y)| |f(y)| dy \\ &\quad + C(1 + \sqrt{\lambda}2^j)^{-N} 2^{-j(n+2)} |a(x) - a_{B_j}| \int_{A_j} |f(y)| dy \\ &\leq C(1 + \sqrt{\lambda}2^j)^{-N} 2^{-j(n+2)/p} (\|a\|_* + |a(x) - a_{B_j}|) \|f \chi_{A_j}\|_{L^p(\mathbb{R}^{n+1})}. \end{aligned}$$

From this, taking $N \geq |\gamma_1|$, we get

$$\begin{aligned} F_3 &\leq C \|a\|_*^p \sum_{k=-\infty}^{\infty} (1 + \sqrt{\lambda}2^k)^{p\gamma_1} 2^{kp\gamma_2} \\ &\quad \times \left(\sum_{j=k+2}^{\infty} (1 + \sqrt{\lambda}2^j)^{-N} 2^{-j(n+2)/p} (j-k) \|f \chi_{A_j}\|_{L^p(\mathbb{R}^{n+1})} \right)^p \\ &\leq C \|a\|_*^p \sum_{j=-\infty}^{\infty} \|f \chi_{A_j}\|_{L_\omega^p(\mathbb{R}^{n+1})}^p \left(\sum_{j=k+2}^{\infty} 2^{(k-j)(\gamma_2+(n+2)/p)} (j-k)^{p'} \right)^{p/p'} \\ &\leq C \|a\|_*^p \|f\|_{L_\omega^p(\mathbb{R}^{n+1})}^p, \end{aligned}$$

since $\gamma_2 > -(n + 2)/p$.

Hence, $\|[T, a]f\|_{L_\omega^p(\mathbb{R}^{n+1})} \leq C \|a\|_* \|f\|_{L_\omega^p(\mathbb{R}^{n+1})}$. ■

Proof of Theorem 3.1 Since $\omega_1 \in A_p$, there exists $\alpha > 1$ such that $\omega_1^\alpha \in A_p$. So by Proposition 3.5 we have

$$(3.11) \quad \sum_{|\nu| \leq 2} \|\lambda^{1-|\nu|/2} D^\nu u\|_{p, \omega_1^\alpha} + \|u_t\|_{p, \omega_1^\alpha} \leq C \|(\lambda + \partial_t - A)u\|_{p, \omega_1^\alpha}.$$

On the other hand, let $\omega_2(x) = (1 + \sqrt{\lambda}\rho(x-x_0))^\gamma$ with $\gamma \in \mathbb{R}$. Using Proposition 3.6 with $\gamma_1 = \gamma$ and $\gamma_2 = 0$, we have

$$(3.12) \quad \sum_{|\nu| \leq 2} \|\lambda^{1-|\nu|/2} D^\nu u\|_{p, \omega_2} + \|u_t\|_{p, \omega_2} \leq C \|(\lambda + \partial_t - A)u\|_{p, \omega_2}.$$

Interpolating between (3.11) and (3.12), we obtain the desired result. ■

4 Boundary Integral Operators Estimates

In this section L^p_ω norms will always be taken over \mathbb{R}^{n+1}_+ , where

$$\mathbb{R}^{n+1}_+ = \{x = (x', t) : x' = (x'_1, \dots, x'_n) \in \mathbb{R}^n, x'_n > 0\}.$$

For all $x = (x'_1, \dots, x'_n, t)$, $x'_n > 0$ we define $\bar{x} = (x_1, \dots, x_{n-1}, -x_n, t)$. Then there exist two positive constants C_1 and C_2 depending on ν in (1.1) such that

$$(4.1) \quad C_1\rho(\bar{x} - y) \leq \rho(T(x) - y) \leq C_2\rho(\bar{x} - y)$$

for every $x, y \in \mathbb{R}^{n+1}_+$ (see [4]), where $T(x)$ is the transformation introduced in Section 1.

Lemma 4.1 *Let $1 < p < \infty$, $a \in \text{BMO}$ and $\omega \in A_p$. We define*

$$Rf(x) = \int_{\mathbb{R}^{n+1}_+} \frac{|f(y)|}{\rho^{n+2}(\bar{x} - y)} dy,$$

$$R_a f(x) = \int_{\mathbb{R}^{n+1}_+} \frac{|a(x) - a(y)||f(y)|}{\rho^{n+2}(\bar{x} - y)} dy.$$

Then there exists a positive constant C such that

$$\|Rf\|_{p,\omega} \leq C\|f\|_{p,\omega} \quad \text{and} \quad \|R_a f\|_{p,\omega} \leq C\|a\|_*\|f\|_{p,\omega}.$$

The proof can be found in [4].

Lemma 4.2 *Let $1 < p < \infty$, $\lambda \geq 0$, and $\omega(x) = (1 + \sqrt{\lambda}|x - x_0|)^{p\gamma_1}|x - x_0|^{p\gamma_2}$ with $x_0 \in \mathbb{R}^{n+1}$, $\gamma_1 \in \mathbb{R}$, and $\gamma_2 \in (-(n + 2)/p, (n + 2)/p')$. We define*

$$R_\lambda f(x) = \int_{\mathbb{R}^{n+1}_+} \frac{|f(y)|}{(1 + \sqrt{\lambda}\rho(\bar{x} - y))^N \rho^{n+2}(\bar{x} - y)} dy.$$

Then there exists a positive constant C such that for any $\lambda \geq 0$ $\|R_\lambda f\|_{p,\omega} \leq C\|f\|_{p,\omega}$.

Proof Fix a ball $B = B(x_0, r)$. As usual $B_k = B(x_0, 2^k r)$ for any integer k ; $B^k_+ = B_k \cap \{x'_n > 0\}$. Then we can write $f(x)$ as

$$f(y) = \sum_{k=-\infty}^{\infty} f(y)\chi_{A^+_k}(y) := \sum_{k=-\infty}^{\infty} f_k(y),$$

where $A_k^+ = B_k^+ \setminus B_{k-1}^+$. Then, we have

$$\begin{aligned} \|R_{\lambda} f\|_{L_{\omega}^p(\mathbb{R}_+^{n+1})}^p &\leq C \sum_{k=-\infty}^{\infty} (1 + \sqrt{\lambda}2^k)^{p\gamma_1} 2^{kp\gamma_2} \|\chi_{A_k^+} R_{\lambda} f\|_{L^p(\mathbb{R}_+^{n+1})}^p \\ &\leq C \sum_{k=-\infty}^{\infty} (1 + \sqrt{\lambda}2^k)^{\gamma_1} 2^{k\gamma_2} \left(\left\| \sum_{j=-\infty}^{k-2} \chi_{A_k^+} R_{\lambda}(f_j) \right\|_{L^p(\mathbb{R}_+^{n+1})}^p \right) \\ &\quad + C \sum_{k=-\infty}^{\infty} (1 + \sqrt{\lambda}2^k)^{p\gamma_1} 2^{kp\gamma_2} \left(\sum_{j=k-1}^{k+1} \|\chi_{A_k^+} R_{\lambda}(f_j)\|_{L^p(\mathbb{R}_+^{n+1})}^p \right) \\ &\quad + C \sum_{k=-\infty}^{\infty} (1 + \sqrt{\lambda}2^k)^{p\gamma_1} 2^{kp\gamma_2} \left(\left\| \sum_{j=k+2}^{\infty} \chi_{A_k^+} R_{\lambda}(f_j) \right\|_{L^p(\mathbb{R}_+^{n+1})}^p \right) \\ &\equiv E_1 + E_2 + E_3. \end{aligned}$$

For E_2 , by the $L^p(\mathbb{R}_+^{n+1})$ boundedness of R_{λ} (see Lemma 4.1), we have

$$E_2 \leq C \sum_{k=-\infty}^{\infty} (1 + \sqrt{\lambda}2^k)^{p\gamma_1} 2^{kp\gamma_2} \left(\sum_{j=k-1}^{k+1} \|R_{\lambda}(f_j)\|_{L^p(\mathbb{R}_+^{n+1})}^p \right) \leq C \|f\|_{L_{\omega}^p(\mathbb{R}_+^{n+1})}^p.$$

For E_1 , note that when $x \in A_k^+$, $j \leq k - 2$, and $y \in A_j^+$, then $2\rho(y - x_0) \leq \rho(x - x_0)$. Therefore, for $x \in A_k^+$ and any $N > 0$, we have

$$\begin{aligned} |R_{\lambda}(f_j)(x)| &\leq C_N \int_{\mathbb{R}_+^{n+1}} \frac{1}{(1 + \sqrt{\lambda}\rho(x - y))^N \rho(x - y)^{n+2}} |f_j(y)| dy \\ &\leq C(1 + \sqrt{\lambda}2^k)^{-N} 2^{-k(n+2)} \int_{A_j^+} |f(y)| dy \\ &\leq C(1 + \sqrt{\lambda}2^k)^{-N} 2^{-k(n+2)} 2^{j(n+2)/p'} \|f\chi_{A_j^+}\|_{L^p(\mathbb{R}^{n+1})}. \end{aligned}$$

From this, and taking $N \geq |\gamma_1|$, we get

$$\begin{aligned} E_1 &\leq C \sum_{k=-\infty}^{\infty} (1 + \sqrt{\lambda}2^k)^{p(\gamma_1 - N)} 2^{kp\gamma_2} \\ &\quad \times \left(\sum_{j=-\infty}^{k-2} 2^{-k(n+2)/p'} 2^{j(n+2)/p'} \|f\chi_{A_j^+}\|_{L^p(\mathbb{R}^{n+1})} \right)^p \\ &\leq C \sum_{k=-\infty}^{\infty} \left(\sum_{j=-\infty}^{k-2} 2^{-(k-j)(\gamma_2 - (n+2)/p')} (1 + \sqrt{\lambda}2^j)^{(\gamma_1 - N)} 2^{j\gamma_2} \|f\chi_{A_j^+}\|_{L^p(\mathbb{R}^{n+1})} \right)^p \end{aligned}$$

$$\begin{aligned} &\leq C \sum_{k=-\infty}^{\infty} \left(\sum_{j=-\infty}^{k-2} 2^{-(k-j)(\gamma_2-(n+2)/p')} (1 + \sqrt{\lambda}2^j)^{\gamma_1} 2^{j\gamma_2} \|f\chi_{A_j^+}\|_{L^p(\mathbb{R}^{n+1})} \right)^p \\ &\leq C \sum_{k=-\infty}^{\infty} \left(\sum_{j=-\infty}^{k-2} 2^{-(k-j)(\gamma_2-(n+2)/p')} \|f\chi_{A_j^+}\|_{L^p_\omega(\mathbb{R}^{n+1})} \right)^p \leq C \|f\|_{L^p_\omega(\mathbb{R}^{n+1})}^p, \end{aligned}$$

since $\gamma_2 < (n + 2)/p'$.

For E_3 , note that when $x \in A_k^+$, $j \geq k+2$, and $y \in A_j^+$, then $2\rho(x-x_0) \leq \rho(y-x_0)$. Therefore, for $x \in A_k^+$,

$$\begin{aligned} |R_\lambda(f_j)(x)| &\leq C \int_{\mathbb{R}^{n+1}} \frac{|f_j(y)| dy}{(1 + \sqrt{\lambda}\rho(x-y))^N \rho(x-y)^{n+2}} \\ &\leq C(1 + \sqrt{\lambda}2^j)^{-N} 2^{-j(n+2)} \int_{A_j^+} |f(y)| dy \\ &\leq C(1 + \sqrt{\lambda}2^j)^{-N} 2^{-j(n+2)/p} \|f\chi_{A_j^+}\|_{L^p(\mathbb{R}^{n+1})}. \end{aligned}$$

From this and taking $N \geq |\gamma_1|$, we obtain

$$\begin{aligned} E_3 &\leq C \sum_{k=-\infty}^{\infty} (1 + \sqrt{\lambda}2^k)^{p\gamma_1} 2^{kp\gamma_2} \\ &\quad \times \left(\sum_{j=k+2}^{\infty} (1 + \sqrt{\lambda}2^j)^{-N} 2^{-j(n+2)/p} \|f\chi_{A_j^+}\|_{L^p(\mathbb{R}^{n+1})} \right)^p \\ &\leq C \sum_{k=-\infty}^{\infty} \left(\sum_{j=k+2}^{\infty} 2^{(k-j)(\gamma_2+(n+2)/p)} (1 + \sqrt{\lambda}2^j)^{\gamma_1} 2^{-j\gamma_2} \|f\chi_{A_j^+}\|_{L^p(\mathbb{R}^{n+1})} \right)^p \\ &\leq C \sum_{k=-\infty}^{\infty} \left(\sum_{j=k+2}^{\infty} 2^{-(k-j)(\gamma_2+(n+2)/p)} \|f\chi_{A_j^+}\|_{L^p_\omega(\mathbb{R}^{n+1})} \right)^p \\ &\leq C \sum_{j=-\infty}^{\infty} \|f\chi_{A_j^+}\|_{L^p_\omega(\mathbb{R}^{n+1})}^p \left(\sum_{k=j+2}^{\infty} 2^{(k-j)p'(\gamma_2+(n+2)/p)} \right)^{p/p'} \leq C \|f\|_{L^p_\omega(\mathbb{R}^{n+1})}^p, \end{aligned}$$

since $\gamma_2 > -(n + 2)/p$.

Hence, $\|R_\lambda f\|_{L^p_\omega(\mathbb{R}^{n+1})} \leq C \|f\|_{L^p_\omega(\mathbb{R}^{n+1})}$. Thus, the lemma is proved. ■

For the linear commutator on \mathbb{R}_+^{n+1} , we have the following lemma.

Lemma 4.3 *Let $1 < p < \infty$, $a \in BMO$, $\lambda \geq 0$, and*

$$\omega(x) = (1 + \sqrt{\lambda}\rho(x-x_0))^{p\gamma_1} \rho(x-x_0)^{p\gamma_2}$$

with $x_0 \in \mathbb{R}^{n+1}$, $\gamma_1 \in \mathbb{R}$, and $\gamma_2 \in (-(n + 2)/p, (n + 2)/p')$. Then

$$\|[a, R_\lambda]f\|_{L^p_\omega(\mathbb{R}_+^{n+1})} \leq C \|a\|_* \|f\|_{L^p_\omega(\mathbb{R}_+^{n+1})},$$

where the constant C is independent of x_0 , f and λ .

Proof Note that for any $N > 0$

$$[a, R_{\lambda}]|f|(x) \leq T_a|f|(x) := \int_{\mathbb{R}^{n+1}} \frac{|a(x) - a(y)|}{(1 + \sqrt{\lambda}\rho(\bar{x} - y))^N \rho^{n+2}(\bar{x} - y)} |f(y)| dy.$$

Fix a ball $B = B(x_0, r)$. As usual $B_k = B(x_0, 2^k r)$ for any integer k , $B_+ = B \cap \{x_n > 0\}$. Then we can write $f(x)$ as

$$f(y) = \sum_{k=-\infty}^{\infty} f(y)\chi_{A_k^+}(y) := \sum_{k=-\infty}^{\infty} f_k(y),$$

where $A_k^+ = B_k^+ \setminus B_{k-1}^+$.

Then we have

$$\begin{aligned} \|T_a f\|_{L_{\omega}^p(\mathbb{R}_+^{n+1})}^p &\leq C \sum_{k=-\infty}^{\infty} (1 + \sqrt{\lambda}2^k)^{p\gamma_1} 2^{kp\gamma_2} \|\chi_{A_k^+} T_a f\|_{L^p(\mathbb{R}_+^{n+1})}^p \\ &\leq C \sum_{k=-\infty}^{\infty} (1 + \sqrt{\lambda}2^k)^{p\gamma_1} 2^{kp\gamma_2} \left(\left\| \sum_{j=-\infty}^{k-2} \chi_{A_k^+} T_a(f_j) \right\|_{L^p(\mathbb{R}_+^{n+1})}^p \right. \\ &\quad \left. + C \sum_{k=-\infty}^{\infty} (1 + \sqrt{\lambda}2^k)^{p\gamma_1} 2^{kp\gamma_2} \left(\sum_{j=k-1}^{k+1} \|\chi_{A_k^+} T_a(f_j)\|_{L^p(\mathbb{R}_+^{n+1})}^p \right) \right. \\ &\quad \left. + C \sum_{k=-\infty}^{\infty} (1 + \sqrt{\lambda}2^k)^{p\gamma_1} 2^{kp\gamma_2} \left(\left\| \sum_{j=-\infty}^{k-2} \chi_{A_k^+} T_a(f_j) \right\|_{L^p(\mathbb{R}_+^{n+1})}^p \right) \right) \\ &\equiv F_1 + F_2 + F_3. \end{aligned}$$

For F_2 , by the $L^p(\mathbb{R}_+^{n+1})$ boundedness of T_a (see Lemma 4.1), we have

$$F_2 \leq C \sum_{k=-\infty}^{\infty} (1 + \sqrt{\lambda}2^k)^{p\gamma_1} 2^{kp\gamma_2} \left(\sum_{j=k-1}^{k+1} \|T_a(f_j)\|_{L^p(\mathbb{R}_+^{n+1})}^p \right) \leq C \|f\|_{L_{\omega}^p(\mathbb{R}_+^{n+1})}^p.$$

For F_1 , note that when $x \in A_k$, $j \leq k - 2$, and $y \in A_j$, then $2\rho(y - x_0) \leq \rho(x - x_0)$. Therefore, for $x \in A_k$ and any $N > 0$, we have

$$\begin{aligned} |T_a(f_j)(x)| &\leq C \int_{\mathbb{R}_+^{n+1}} \frac{|a(x) - a(y)|}{(1 + \sqrt{\lambda}\rho(x - y))^N \rho^{n+2}(x - y)} |f_j(y)| dy \\ &\leq C(1 + \sqrt{\lambda}2^k)^{-N} 2^{-k(n+2)} \int_{A_j^+} |a(x) - a(y)| |f(y)| dy \\ &\quad + C(1 + \sqrt{\lambda}2^k)^{-N} 2^{-k(n+2)} |a(x) - a_{B_j}| \int_{A_j^+} |f(y)| dy \\ &\leq C(1 + \sqrt{\lambda}2^k)^{-N} 2^{-k(n+2)} 2^{j(n+2)/p'} \\ &\quad \times (\|a\|_* + |a(x) - a_{B_j}|) \|f\chi_{A_j^+}\|_{L^p(\mathbb{R}^{n+1})}, \end{aligned}$$

where $a_{B_j} = \frac{1}{|B_j|} \int_{B_j} a(y) dy$. From this, and taking $N \geq |\gamma_1|$, we get

$$\begin{aligned} F_1 &\leq C \|a\|_*^p \sum_{k=-\infty}^{\infty} (1 + \sqrt{\lambda}2^k)^{p(\gamma_1-N)} 2^{kp\gamma_2} \\ &\quad \times \left(\sum_{j=-\infty}^{k-2} 2^{-(k-j)(n+2)/p'} (k-j) \|f\chi_{A_j^+}\|_{L^p(\mathbb{R}^{n+1})} \right)^p \\ &\leq C \|a\|_*^p \\ &\quad \times \sum_{k=-\infty}^{\infty} \left(\sum_{j=-\infty}^{k-2} 2^{-(k-j)(\gamma_2-(n+2)/p')} (1 + \sqrt{\lambda}2^j)^{\gamma_1} 2^{j\gamma_2} (k-j) \|f\chi_{A_j^+}\|_{L^p(\mathbb{R}^{n+1})} \right)^p \\ &\leq C \|a\|_*^p \sum_{k=-\infty}^{\infty} \left(\sum_{j=-\infty}^{k-2} 2^{-(k-j)(\gamma_2-(n+2)/p')} (k-j) \|f\chi_{A_j^+}\|_{L^p_\omega(\mathbb{R}^{n+1})} \right)^p \\ &\leq C \|a\|_*^p \|f\|_{L^p_\omega(\mathbb{R}^{n+1})}^p, \end{aligned}$$

since $\gamma_2 < (n+2)/p'$.

For F_3 , note that when $x \in A_k$, $j \geq k+2$, and $y \in A_j$, then $2\rho(x-x_0) \leq \rho(y-x_0)$. Therefore, for $x \in A_k$,

$$\begin{aligned} |T_a(f_j)(x)| &\leq C_N \int_{\mathbb{R}^{n+1}} \frac{|a(x) - a(y)| |f_j(y)| dy}{(1 + \sqrt{\lambda}\rho(x-y))^N \rho(x-y)^{n+2}} \\ &\leq C(1 + \sqrt{\lambda}2^j)^{-N} 2^{-j(n+2)} \int_{A_j^+} |a(x) - a(y)| |f(y)| dy \\ &\quad + C(1 + \sqrt{\lambda}2^j)^{-N} 2^{-j(n+2)} |a(x) - a_{B_j}| \int_{A_j^+} |f(y)| dy \\ &\leq C(1 + \sqrt{\lambda}2^j)^{-N} 2^{-j(n+2)/p} (\|a\|_* + |a(x) - a_{B_j}|) \|f\chi_{A_j^+}\|_{L^p(\mathbb{R}^{n+1})}. \end{aligned}$$

From this and taking $N \geq |\gamma_1|$, we get

$$\begin{aligned} F_3 &\leq C \|a\|_*^p \sum_{k=-\infty}^{\infty} (1 + \sqrt{\lambda}2^k)^{p\gamma_1} 2^{kp\gamma_2} \\ &\quad \times \left(\sum_{j=k+2}^{\infty} (1 + \sqrt{\lambda}2^j)^{-N} 2^{-j(n+2)/p} (j-k) \|f\chi_{A_j^+}\|_{L^p(\mathbb{R}^{n+1})} \right)^p \\ &\leq C \|a\|_*^p \sum_{j=-\infty}^{\infty} \|f\chi_{A_j^+}\|_{L^p_\omega(\mathbb{R}^{n+1})}^p \left(\sum_{j=k+2}^{\infty} 2^{(k-j)(\gamma_2+(n+2)/p)} (j-k)^{p'} \right)^{p/p'} \\ &\leq C \|a\|_*^p \|f\|_{L^p_\omega(\mathbb{R}^{n+1})}^p, \end{aligned}$$

since $\gamma_2 > -(n + 2)/p$.

Hence, $\|T_a f\|_{L_\omega^p(\mathbb{R}_+^{n+1})} \leq C \|a\|_* \|f\|_{L_\omega^p(\mathbb{R}_+^{n+1})}$. Thus, the lemma is proved. ■

By Lemmas 4.1 and 4.2, we can obtain the following result.

Proposition 4.4 *Let $1 < p < \infty$, $a \in \text{BMO}$, $\lambda \geq 0$, and*

$$\omega(x) = (1 + \sqrt{\lambda}\rho(x - x_0))^\gamma \mu(x)$$

with $x_0 \in \mathbb{R}^{n+1}$, $\gamma \in \mathbb{R}$, and $\mu(x) \in A_p$. Then

$$\begin{aligned} \|R_\lambda f\|_{L_\omega^p(\mathbb{R}_+^{n+1})} &\leq C \|f\|_{L_\omega^p(\mathbb{R}_+^{n+1})} \\ \|[a, R_\lambda]f\|_{L_\omega^p(\mathbb{R}_+^{n+1})} &\leq C \|a\|_* \|f\|_{L_\omega^p(\mathbb{R}_+^{n+1})}, \end{aligned}$$

where the constant C is independent of f , x_0 and λ .

By (4.1) and Proposition 4.4 and using the same spherical harmonic expansion as in [4], we deduce the following result.

Theorem 4.5 *Let $1 < p < \infty$, $a \in \text{BMO}$, $\lambda \geq 0$, and*

$$\omega(x) = (1 + \sqrt{\lambda}\rho(x - x_0))^\gamma \mu(x)$$

with $x_0 \in \mathbb{R}^{n+1}$, $\gamma \in \mathbb{R}$ and $\mu(x) \in A_p$. If k is a variable PCZ kernel, define

$$\tilde{T}f(x) = \int_{\mathbb{R}_+^{n+1}} k_\lambda(x, T(x) - y) f(y) dy.$$

Then

$$\|\tilde{T}f\|_{L_\omega^p(\mathbb{R}_+^{n+1})} \leq C \|f\|_{L_\omega^p(\mathbb{R}_+^{n+1})} \quad \text{and} \quad \|[a, \tilde{T}]f\|_{L_\omega^p(\mathbb{R}_+^{n+1})} \leq C \|a\|_* \|f\|_{L_\omega^p(\mathbb{R}_+^{n+1})},$$

where the constant C is independent of f , x_0 , and λ .

Finally, we give the boundary estimate in weighted spaces.

Theorem 4.6 *Let $1 < p < \infty$, $\lambda \geq 0$, and $\omega(x) = (1 + \sqrt{\lambda}\rho(x - x_0))^\gamma \mu(x)$ with $x_0 \in \mathbb{R}^{n+1}$, $\gamma \in \mathbb{R}$ and $\mu \in A_p$. Then there exist positive constants η and C independent of λ and x_0 such that for all $u \in C_{t,x'}$*

$$\sum_{|\nu| \leq 2} \|\lambda^{1-|\nu|/2} D^\nu u\|_{L_\omega^p(\mathbb{R}_+^{n+1})} + \|u_t\|_{L_\omega^p(\mathbb{R}_+^{n+1})} \leq C \|(\lambda + \partial_t - A)u\|_{L_\omega^p(\mathbb{R}_+^{n+1})},$$

provided that $\|a\|_* := \max_{|\beta|=2} \{\|a_\beta\|_*\} \leq \eta$, where $A = \sum_{i,j=1}^n a_{ij}(\cdot) D_{ij}$.

Proof From Theorem 4.5, we obtain

$$(4.2) \quad \|D^2 u\|_{L^p_\omega(\mathbb{R}^{n+1})} \leq C\|(\lambda + \partial_t - A)u\|_{L^p_\omega(\mathbb{R}^{n+1})},$$

provided that $\|a\|_* := \max_{|\beta|=2} \{ \|a_\beta\|_* \} \leq \eta$. Note that the boundary representation of u is as follows

$$u(x) = \int_{\mathbb{R}^{n+1}_+} G_\lambda^x(x - y)L_\lambda u(y) dy,$$

where

$$G_\lambda^x(x - y) = \gamma_\lambda^x(x - y) - \gamma_\lambda^x(T(x) - y) \text{ and } L_\lambda u = (\lambda + \partial_t - A)u.$$

Obviously,

$$(4.3) \quad \lambda|G_\lambda^x(x - y)| \leq \frac{C_N \lambda}{(1 + \sqrt{\lambda}\rho(x - y))^N \rho^n(x - y)},$$

$$(4.4) \quad \sqrt{\lambda}|D_x G_\lambda^x(x - y)| \leq \frac{C_N \sqrt{\lambda}}{(1 + \sqrt{\lambda}\rho(x - y))^N \rho^{n+1}(x - y)}.$$

By (4.3) and (4.4), for $\mu(x) \in A_p$, we then have

$$(4.5) \quad \sum_{|\nu| \leq 1} \|\lambda^{1-|\nu|/2} D^\nu u\|_{L^p_\mu(\mathbb{R}^{n+1})} \leq C\|M(L_\lambda u)\|_{L^p_\mu(\mathbb{R}^{n+1})} \leq C\|L_\lambda u\|_{L^p_\mu(\mathbb{R}^{n+1})}.$$

On the other hand, it is easy to see that for any $x, y \in \mathbb{R}^{n+1}_+$

$$(4.6) \quad \lambda|G_\lambda^x(x - y)| + \sqrt{\lambda}|D_x G_\lambda^x(x - y)| \leq \frac{C_N}{(1 + \sqrt{\lambda}\rho(x - y))^N \rho^{n+2}(x - y)}.$$

Adapting the same arguments in the proof of Lemma 4.2, by (4.6), we have

$$(4.7) \quad \sum_{|\nu| \leq 1} \|\lambda^{1-|\nu|/2} D^\nu u\|_{L^p_{\omega_1}(\mathbb{R}^{n+1})} \leq C\|L_\lambda u\|_{L^p_{\omega_1}(\mathbb{R}^{n+1})},$$

$\omega_1(x) = (1 + \sqrt{\lambda}\rho(x - x_0))^\gamma$ with $x_0 \in \mathbb{R}^{n+1}$ and $\gamma \in \mathbb{R}$. Interpolating (4.5) and (4.7), we obtain

$$(4.8) \quad \sum_{|\nu| \leq 1} \|\lambda^{1-|\nu|/2} D^\nu u\|_{L^p_\omega(\mathbb{R}^{n+1})} \leq C\|L_\lambda u\|_{L^p_\omega(\mathbb{R}^{n+1})},$$

where $\omega(x) = (1 + \sqrt{\lambda}\rho(x - x_0))^\gamma \mu(x)$ with $x_0 \in \mathbb{R}^{n+1}$, $\gamma \in \mathbb{R}$ and $\mu \in A_p$. Finally, we observe that $u_t = L_\lambda u + a_{ij}D_{ij}u + \lambda u$, combining with (4.2), (4.5), and (4.8), we have $\|u_t\|_{L^p_\mu(\mathbb{R}^{n+1})} \leq C\|(\lambda + \partial_t - A)u\|_{L^p_\mu(\mathbb{R}^{n+1})}$. ■

5 The Dirichlet Problem

Let $W_{0,\omega}^{2,p}(\Omega_T)$ be the closure in the $W_{\omega}^{2,p}$ norm of the space

$$\mathcal{C} = \{ \phi \in C^{\infty}(\Omega_T) : \phi = 0 \text{ for } t = 0 \text{ or } x \in \partial\Omega \}.$$

In this section, we are interested in the Cauchy–Dirichlet problem

$$(5.1) \quad \begin{cases} L_{\lambda}u = f \text{ in } \Omega_T, \\ u \in W_{0,\omega}^{2,p}(\Omega_T), \end{cases}$$

with $f \in L_{\omega}^p(Q_T)$, a_{ij} 's satisfying (1.2), $a_{ij} \in BMO(\Omega_T)$ and $\lambda \geq 0$.

We first give the following result concerning interior estimates in weighted spaces.

Theorem 5.1 *Let $1 < p < \infty, 0 \leq \lambda < \infty, \omega(x) = (1 + \sqrt{\lambda}\rho(x - x_0))^{\gamma} \mu(x)$ with $x_0 \in \mathbb{R}^{n+1}, \gamma \in \mathbb{R}$, and $\mu(x) \in A_p$. There exist C and η such that $B_{2r} \Subset \Omega \times \mathbb{R}$, and $u \in W_{0,\omega}^{2,p}(\Omega_T)$. We have*

$$\begin{aligned} & \lambda \|u\|_{L_{\omega}^p(B_r^+)} + \sqrt{\lambda} \|Du\|_{L_{\omega}^p(B_r^+)} + \|u_t\|_{L_{\omega}^p(B_r^+)} + \|D_{ij}u\|_{L_{\omega}^p(B_r^+)} \\ & \leq C \left(\|L_{\lambda}u\|_{L_{\omega}^p(B_{2r}^+)} + r^{-1} \|Du\|_{L_{\omega}^p(B_{2r}^+)} + r^{-2} \|u\|_{L_{\omega}^p(B_{2r}^+)} \right), \end{aligned}$$

provided that $\|a\|_* \leq \eta$, where $B_r^+ = B_r \cap \{t \geq 0\}$ and the constants C and η are independent of x_0, λ and u .

We then give the following result concerning boundary estimates in weighted spaces.

Theorem 5.2 *Let $1 < p < \infty, 0 \leq \lambda < \infty, \omega(x) = (1 + \sqrt{\lambda}\rho(x - x_0))^{\gamma} \mu(x)$ with $x_0 \in \mathbb{R}^{n+1}, \gamma \in \mathbb{R}$, and $\mu(x) \in A_p$. There exist C and η such that for $\text{supp } u \subset B_r$, and $u \in W_{0,\omega}^{2,p}(\Omega_T)$. We have*

$$\begin{aligned} & \lambda \|u\|_{L_{\omega}^p(\tilde{B}_r^+)} + \sqrt{\lambda} \|Du\|_{L_{\omega}^p(\tilde{B}_r^+)} + \|u_t\|_{L_{\omega}^p(\tilde{B}_r^+)} + \|D_{ij}u\|_{L_{\omega}^p(\tilde{B}_r^+)} \\ & \leq C \left(\|L_{\lambda}u\|_{L_{\omega}^p(\tilde{B}_{2r}^+)} + r^{-1} \|Du\|_{L_{\omega}^p(\tilde{B}_{2r}^+)} + r^{-2} \|u\|_{L_{\omega}^p(\tilde{B}_{2r}^+)} \right), \end{aligned}$$

provided that $\|a\|_* \leq \eta$, where $\tilde{B}_r^+ = B_r \cap \{x'_n \geq 0, t \geq 0\}$ and the constants C and η are independent of x_0, λ and u .

Adapting the same arguments in [4], by Theorems 3.1 and 4.6, we can obtain Theorems 5.1 and 5.2, respectively. We omit the details here.

Using Theorems 5.1 and 5.2, we can establish well-posedness of the Dirichlet problem (5.1) in weighted spaces.

Theorem 5.3 Let $1 < p < \infty$, $0 \leq \lambda < \infty$, $\omega(x) = (1 + \sqrt{\lambda}\rho(x - x_0))^\gamma \mu(x)$ with $x_0 \in \mathbb{R}^{n+1}$, $\gamma \in \mathbb{R}$, and $\mu(x) \in A_p$. Then there exists a positive constant η and λ_0 such that $\|a\|_* \leq \eta$ and $\lambda \geq \lambda_0 = \lambda_0(n, p, \gamma, \beta, \mu, \eta, |\Omega|, T)$. The Cauchy–Dirichlet problem (5.1) has a unique solution $u \in W_{\omega}^{2,p}(Q_T)$ for every $f \in L_{\omega}^p(\Omega_T)$. Moreover, there exists a constant $C = C(n, p, \gamma, \mu, \eta, |\Omega|, T)$ such that

$$\lambda \|u\|_{L_{\omega}^p(\Omega_T)} + \sqrt{\lambda} \|Du\|_{L_{\omega}^p(\Omega_T)} + \|u_t\|_{L_{\omega}^p(\Omega_T)} + \|D_{ij}u\|_{L_{\omega}^p(\Omega_T)} \leq C \|f\|_{L_{\omega}^p(\Omega_T)}.$$

We remark that our proofs could be modified in order to replace the smallness of the BMO norm assumption by the VMO norm; see [4].

Acknowledgement The author would like to thank the referee for some very valuable suggestions.

References

- [1] P. Acquistapace, *On BMO regularity for linear elliptic systems*. Ann. Mat. Pura Appl. **161**(1992), 231–269. <http://dx.doi.org/10.1007/BF01759640>
- [2] J. Alvarez, R. Bagby, D. Kurtz, and C. Pérez, *Weighted estimates for commutators of linear operator*. Studia Math. **104**(1993), no. 2, 195–209.
- [3] S.-S. Byun, *Parabolic equations with BMO coefficients in Lipschitz domains*. J. Differential Equations **209**(2005), no. 2, 229–265. <http://dx.doi.org/10.1016/j.jde.2004.08.018>
- [4] M. Bramanti and M. Cerutti, *$W_p^{1,2}$ solvability for the Cauchy–Dirichlet problem for parabolic equations with VMO coefficients*. Comm. Partial Differential Equations **18**(1993), no. 9–10, 1735–1763. <http://dx.doi.org/10.1080/03605309308820991>
- [5] F. Chiarenza, M. Frasca, and P. Longo, *Interior $W^{2,p}$ estimates for nondivergence elliptic equations with discontinuous coefficients*. Ricerche. Mat. **40**(1991), no. 1, 149–168.
- [6] ———, *$W^{2,p}$ solvability of the Dirichlet problem for nondivergence elliptic equations with VMO coefficients*. Trans. Amer. Math. Soc. **336**(1993), no. 2, 841–853. <http://dx.doi.org/10.2307/2154379>
- [7] R. Haller-Dintelmann, H. Heck, and M. Hieber, *$L^p - L^q$ estimates for parabolic systems in non-divergence form with VMO coefficients*. J. London Math. Soc. **74**(2006), no. 3, 717–736. <http://dx.doi.org/10.1112/S0024610706023192>
- [8] E. Fabe and N. Riviere, *Symbolic calculus of kernels with mixed homogeneity*. In: Singular Integrals. American Mathematical Society, Providence, RI, 1967, pp. 106–127.
- [9] J. Garcia-Cuerva and J. Rubio de Francia, *Weighted Norm Inequalities and Related Topics*. North-Holland Mathematics Studies 116, North-Holland, Amsterdam, 1985.
- [10] H. Heck and M. Hieber, *Maximal L^p -regularity for elliptic operators with VMO-coefficients*. J. Evol. Equ. **3**(2003), no. 2, 332–359.
- [11] P. Jones, *Extension theorems for BMO*. Indiana Univ. Math. J. **29**(1980), no. 1, 41–66. <http://dx.doi.org/10.1512/iumj.1980.29.29005>
- [12] F. John and L. Nirenberg, *On functions of bounded mean oscillation*. Comm. Pure Appl. Math. **14**(1961), 415–426. <http://dx.doi.org/10.1002/cpa.3160140317>
- [13] X. Li and D. Yang, *Boundedness of some sublinear operators on Herz spaces*. Illinois J. Math. **40**(1996), no. 3, 494–501.
- [14] N. Krylov, *Parabolic and elliptic equations with VMO coefficients*. Comm. Partial Differential Equations **32**(2007), no. 1–3, 453–475. <http://dx.doi.org/10.1080/03605300600781626>
- [15] ———, *Parabolic equations with VMO coefficients in Sobolev spaces with mixed norms*. J. Funct. Anal. **250**(2007), no. 2, 521–558. <http://dx.doi.org/10.1016/j.jfa.2007.04.003>
- [16] ———, *Lectures on Elliptic and Parabolic Equations in Sobolev spaces*. Graduate Studies in Mathematics 96. American Mathematical Society, Providence, RI, 2008.
- [17] ———, *On parabolic PDEs and SPDEs in Sobolev spaces W_p^2 without and with weights*. In: Topics in Stochastic Analysis and Nonparametric Estimation. IMA Vol. Math. Appl. 145, Springer, New York, 2008, pp. 151–197.
- [18] D. Sarason, *Functions of vanishing mean oscillation*. Trans. Amer. Math. Soc. **207**(1975), 391–405. <http://dx.doi.org/10.1090/S0002-9947-1975-0377518-3>

LMAM, School of Mathematical Sciences, Peking University, Beijing, 100871, P.R. China
e-mail: tanglin@math.pku.edu.cn